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€| o® | xa | % |[xw| % |xu| & |xu| %
% 5 21,786 13.0 11,472 6.9 1,011 44.3 10,398 6.2 1,441 0,9
i i 1,936 13.4 870 6.0 81 40.2 922 6.4 123 0.9
W A8 & W 3,707 14.6 1,430 5.6 187 48.0 1,699 6.7 270 1.1
e A H 1,243 11.8 688 6.5 73 55.4 631 6.0 84 0.8
N R H 1,434 12.7 734 6.5 97 63.4 753 6.7 132 1.2
% % H 1,168 13.7 447 5.3 39 32.3 561 6.6 70 0.8
E ¥ i 747 12.3 562 9.2 35 44.7 363 6.0 60 1.0
£ ] i 2,320 15.2 875 5.7 85 35.3 1,077 7.1 154 1.0
£ i il 515 12.5 311 7.5 26 48.1 211 5.1 28 0.7
=2 T il 377 12.0 249 7.9 9 23.3 185 5.9 37 1.2
& Il kil 392 11.9 247 7.5 18 43.9 200 6.0 20 0.6
B ¥ il 407 13.8 220 7.5 17 40.1 194 6.6 1 0.4
BE B i 257 9.7 187 7.1 11 41.0 125 4.7 18 0.7
A & i) 513 14.0 250 6.8 19 35.7 244 6.7 41 1.1
% E 1) 145 13.0 82 7.4 4 26.8 65 5.8 5 0.4
b3 B HT 162 14.4 71 5.9 2 12.2 75 6.2 7 0.6
b - - 71 14.5 23 4.7 4 53.3 28 5.7 4 0.8
i 2 BT 163 12.3 97 7.3 5 29.8 65 4.9 5 0.4
= £ i) 112 13.5 47 5.7 7 62.5 50 6.0 10 1.2
X = HT 152 12.7 96 8.0 3 19.4 76 6.4 8 0.7
W B i) 211 14.8 89 6.2 10 45.2 80 5.6 5 0.4
3 B 1) 98 11.9 87 11.8 4 39.2 52 6.3 4 0.5
7% g g 372 12.9 203 7.0 22 55.8 178 6.2 24 0.8
1k g 119 10.2 63 5.4 9 70.3 65 5.6 8 0.7
A H oY 110 16.1 50 7.3 — - 48 7.0 8 1.2
n o BT 152 14.0 75 6.9 2 12.9 70 6.5 16 1.5
B8 T 69 9.6 58 8.1 4 54.8 34 4.8 1 0.1
| 3= T 258 15.0 97 5.6 11 40.9 99 5.8 17 1.0
£ i Ay 118 12.9 69 7.6 6 48.4 67 7.3 10 1.0
3 k] + 50 11.7 37 8.7 4 74.0 25 5.8 2 0.5
@ - o] 97 11.1 65 7.5 2 20.2 43 4.9 2 0.2
F R MW H 67 11.7 54 9.4 2 29.0 38 6.6 3 0.5
— & T 133 10.7 70 5.6 5 36.2 69 5.5 10 0.8
B 1] i3] 151 10.8 116 8.3 4 25.8 78 5.6 3 0.2
3 g i) 176 11.2 111 7.1 11 58.8 106 6.8 20 1.3
¥ ¥ wt 87 8.2 100 9.4 3 33.3 58 5.5 6 0.6
= E il 128 14.0 67 7.3 9 65.7 64 7.0 9 1.0
i i3] L) 71 9.7 68 9.3 2 27 .4 50 6.8 - -
K & BT 72 9.7 81 10.9 7 88.6 32 4.3 3 0.4
% & /T 122 11.8 114 1.1 7 54.3 74 7.2 7 0.7
| 0 T 255 13.3 136 7.1 10 37.7 121 6.3 18 0.9
x = T 97 11.7 65 7.8 2 20.2 39 4.7 5 0.6
& il #t 75 13.3 47 8.3 2 26.0 25 4.4 2 0.4
= ) # 40 7.6 62 11.8 4 90.9 23 4.4 5 1.0
x 7 BT 140 12.1 86 7.5 7 47.6 71 6.2 7 0.6
-l R BT 118 13.2 68 7.6 7 56.0 42 4.7 8 0.9
N = i) 236 15.5 92 6.1 6 24.8 109 7.2 22 1.4
2) 2 WY 132 9.9 104 7.8 3 22.2 66 4.9 6 0.4
3] 1= BT 91 8.0 107 9.4 6 61.9 45 4.0 4 0.4
X =) iy 71 11.6 57 9.3 2 27.4 44 7.2 2 0.3
#a o KT 59 9.7 39 6.4 5 78.1 22 3.6 2 0.3
il il i 97 13.3 46 6.3 6 58.3 7 38 5.2 6 0.8
x W W 22 10.5 19 9.1 1 43.5 12 5.7 — -
:3 = 1] 108 12.5 71 8.2 10 84.7 53 6.1 4 0.5
(el = Br 116 11.4 96 9.5 6 51.7 54 5.3 6 0.6
B s # 37 12.3 20 6.6 2 51.3 27 9.0 1 0.3
] i} HT 83 10.3 83 10.3 5 56.8 44 5.4 6 0.7
X W @m # 52 9.0 84 14.6 5 87.7 .18 3.1 3 0.5
5 L BT 76 10.1 62 8.2 4 50.0 45 6.0 7 0.9
ji:d B HT 97 13.3 56 7.7 4 139.6 45 6.2 10 1.4
x Ed HT 121 12.0 98 9.7 4 32.0 46 4.5 10 1.0
e A i 195 11.7 121 7.3 10 48.8 96 5.8 12 0.7
@] R BT 227 11.9 131 6.9 16 65.8 132 6.9 17 0.9
33 B o] 131 13.3 84 8.5 10 70.9 60 6.1 5 0.5
7/ E B m 180 13.2 115 8.4 7 37.4 78 5.7 5 0.4
i3 i} AT 126 10.0 114 9.1 2 15.6 51 4.1 7 0.6
1 i ] 135 12.9 105 10.0 1 7.4 58 5.5 7 0.7
i ES if) 104 12.5 82 9.9 3 28.0 42 5.0 4 0.5
e # g 19 6.9 43 15.7 1 50.0 14 5.1 4 1.5
b 74 Ff 64 16.9 19 5.0 1 15.4 24 6.3 1 0.3
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